
1 2 

3 4 

1.2 x 102 = 24 x 103 = 

43 ÷ 105 = 2.53 ÷ 104 = 

5.NBT.2 5.NBT.2 

5.NBT.2 5.NBT.2 

W a l d e n   G r e e n   M o n t e s s o r i   -    M a t h   T a s k   C a r d s



5 6 

7 8 

8.14 x 102 = 0.36 x 103 = 

325.8 ÷ 103 = 1,894.6 ÷ 102 = 

5.NBT.2 5.NBT.2 

5.NBT.2 5.NBT.2 

W a l d e n   G r e e n   M o n t e s s o r i   -    M a t h   T a s k   C a r d s



9 10 

11 12 

5.8 x ___ = 5,800 17 x ___ = 1,700 

408 ÷ ___ = .408 189.6 ÷ ___ = 1.896 

5.NBT.2 5.NBT.2 

5.NBT.2 5.NBT.2 

W a l d e n   G r e e n   M o n t e s s o r i   -    M a t h   T a s k   C a r d s



13 14 

15 16 

Solve. 
 

1.6 x 101 = 
1.6 x 102 = 

1.6 x 103 = 
 

Explain the pattern. 

Solve. 
 

80.5 x 102 = 
80.5 x 103 = 

80.5 x 104 = 
 

Explain the pattern. 

Solve. 
 

136 ÷ 101 = 
136 ÷ 102 = 

136 ÷ 103 = 
 

Explain the pattern. 

Solve. 
 

3,486.2 ÷ 102 = 
3,486.2 ÷ 103 = 

3,486.2 ÷ 104 = 
 

Explain the pattern. 

5.NBT.2 5.NBT.2 

5.NBT.2 5.NBT.2 

W a l d e n   G r e e n   M o n t e s s o r i   -    M a t h   T a s k   C a r d s



17 18 

19 20 

84.3 x 104 = 6.702 x 103 = 

528.4 ÷ 105 = 351.7 ÷ 102 = 

5.NBT.2 5.NBT.2 

5.NBT.2 5.NBT.2 

W a l d e n   G r e e n   M o n t e s s o r i   -    M a t h   T a s k   C a r d s


